
 

Verze pracovního listu: 23.06.1 
 

 
Krácení poměru – řešení 

Úkol: Doplň tabulku podle vzoru. Krať uvedené poměry zadanými čísly. 

Varianta 1     Varianta 2 

PŮVODNÍ 
POMĚR 

KRAŤ 
ČÍSLEM… 

VÝSLEDNÝ 
POMĚR 

PŮVODNÍ 
POMĚR 

KRAŤ 
ČÍSLEM… 

VÝSLEDNÝ 
POMĚR 

450:60 5 90:12 28:24 4  7:6 

10:130 2 5:65 40:96 8 5:12 

147:161 7 21:23 100:105 5 20:21 

220:320 20 11:16 5,4:18,9 0,3 18:63 

82,5:3 1,5 55:2 32:22 2 16:11 

600:180 30 20:6 3:22,5 1,5 2:15 

51:350 7 13:50 121:44 11 11:4 

88:330 11 8:30 28:91 7 4:13 

24:42 6 4:7 168:75 3 56:25 

45:20 5 9:4 12:18 6 2:3 

32:24 8 4:3 25:20 5 5:4 

45:72 9 5:8 256:240 8 32:30 

99:55 11 9:5 9:81 9 1:9 

45:51 3 15:17 80:90 10 8:9 

14:6 2 7:3 12:21 3 4:7 

44:24 4 11:6 20:7,5 2,5 8:3 
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